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(question () )

The Ratio of heigh? 170cm and@eight 0 kg of apersonis

|30 Ccw
17cm:60kg e
6o ")
Not a rckti}



( QUESTIOE = @ )

The Ratio of 25 hoqus and 45 minutesis

@) s:9 iy ke
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100:3 A S K MANVYO,
@ 1002 ~ o
@ Not a ratio LV ENTAD )
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( QUESTION - ZD )

Which Ratio out of the following is greater ?
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( QUESTION -'@) )

If A:B=2:3 ,B:C=5:7Then A:B:.C="?




( QUESTION ,I@ )

If A:B=2:3 ,B:C=4:5&C:D=6:7, ThenA:D="?
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(Queston - @) ) @

P,Q &R are three cities . The ratio of average temperature
between P and Qis 11:12 and that between Pand R is 9:8.
Find ratio between QandR
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(queston -G) )

If A:B=3:4 ,Then the value of (2a+3b):(3a+4b)

@) 54:25 Saer =
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8: 25
0 SR
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(Quesrfou -@ )

If x2y=1:2,Then the value of (x%y + xy?): (x3 + y3)

0 3: 22 7\1\5,\13’)’
@ 1:8 ‘/*‘g’/
p
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Two numbers are in the ratio 2:3, If 4 is subtracted from
each, they are in the ratio 3:5 ,The Numbers are

Ry

/ b
: B ’. g(\o,">7(
16,2& ;

B

(B) 4,
(© 2,3} 5 (1a-wY - 3 (3n-w)
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(question _ (9 ) |

The angles of a triangle are in the ratio 2:7:11 , The angles are

|
20°,70%5900=1 2. a: 1 O N N T

2% = %P

@ 30°,709.80° =327 @ (“/‘_"D

18Y,63Y%:.999 7 " e
@ \ \l%/QW
@ None




tQussnou - )

Anand earns Rs 80 in 7 hours and Pramod Rs 90 in 12 hours
The Ratio Of Their earning is

. P\(\C\v\@ p“’*mbé <
X Xe \R—"v/{(i‘b‘): 2ol s
®) 3:22 g —(32) T




(queston - (D) )

If p: q is the sub duplicate ration of p — x* : ¢ — x* then/x’/is
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(queston (2 ) @

AN

If 2s: 3t is duplicate ratio of 2s — p: 3t — p, Then

@2—6t CE e Ly & \A(a:b) km’LabX
g 2 3y - ¢ ket
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('QuEsTION D

The ratio of the number of boys to numbers of girls in a
school of 720 students is 3:5 .If 18 new girls are admitted in
the school ,Find how many new boys may be admitted so
that the ratio of boys to girls may change to 2:3
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( QUESTION D

Find the value of x if %O:x : ;;2




( QUESTION )

The fourth proportional to 4,6,8 is

£ V\'.() bl TS CAR o
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The third proportional to 12,18 is

@ gt
48
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( QUESTION )

The mean proportional to 25 ,81is
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( QUESTION D

:gzg,Then A:B.Cis
@352 P i e S I
£F 2. =
253 Pfr,\c \Dezil %C‘L
=N S =Y
glzs A= K 5 RIS
@ None N e a5



( QUESTION D

B A+B+C -
5_4_7,Then ~—1Is
@ . arE T e ok O o e C
B T e &
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( QUESTION D

b

Ifa:b=4:1, Then =4 e is
Vb \ a

5 G 2 P




( QUESTION D

X y Z

if = = ut
b+c—a c+a—b a+b-c %/57 v ,V/Lﬂ)\/(m/
Then (P - C)Xj- (c—a)y+(@a—b)z =? K(F‘L/ ‘/}’( o
L %((O\/
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2
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(QUESTION )

The sum of the@g@of@ persons)is 150 years.
10 years ago their ages were in the ratio 7:8:9.
Their present ages are

&85 45,50,55 [0 yead Ao
PEERC R e O e
40,60,50 o ' 4 5
sy PR G 05 R
(G} 3545,70 Y = e
D
® vone b Gt
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CC D |

The ratio between the speeds of two train is 3:8 .If the second
train runs 400 kms in 5 hours, the speed of the first train is

\«OO](_W\ \;h\
@0 km/h && _ g ho? 2 T %
o 50 km/h 25\-,\«.».& %\g\w(o £ _
Tim e f%@ /%
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il )X\ =5 54 [L\,\,\{ 9\
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= ' AN\
( QuEsTION 1D @
One kind Of rice costs Rs 40/Kg & other kind of rice costs
Rs 50/kg, In what proportion they should be mixed so that

average cost of mixture is Rs 48/Kg

@ 1:2 ERAY 26"/\”3




= ' AN\
(QUESTI?N 1D . @
One kind Of tea costs Rs 47.50/Kg & other kind of tea costs
Rs 50.50/kg, In what proportion they should be mixed so

that seller can sell it for Rs 60.625/kg and earns a profit of
20% on the selling price .

@1:2 Z\U-So/\'v) 2%0-5‘0/%& ?501“;\’(7- S | A [ T
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(Qussnou
X+ 4
if— Y -2
= 4 s
Then Xxy="?




( QUESTION D

If x/y = z/w, implies y/x = w/z, then the process is called

foia G '5%0
. Ny
0 HE S
/e
@Componendo S0
N

@ | nvertendw



( QUESTION D

A7
b 7 z
If = = = then X 2 o4
4 5 LN
+& - h= A
2 o
®a—4 b+5 7&

a+4 b+5
a—4b5 ‘/

© si-t

a+4 b-—5

@ none of these



( QUESTION D

If the salary of P is 25% lower than that of Q and the salary o;;
Is 20% higher than that of Q, the ratio of the salary of Rand P
will be:

p A R

@ 5:8 U, J)

e | o0 k2:p
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Find Valve 6&1
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(Ql;ESHON 2)3

0
The value of (ngz ) where p,q,x,y # 0 is equal to

0 e 0
2 o

1



( QUESTION D

Simplify 4x*/3 2x1ifx=47?

@ ; \3 e e

B L Tt
® > b5 1 5
e 3 b} Eimt




( QUESTION D

X3P x xb-¢ x x¢2 |5 equal to
EY T Ao

@ * (2
(B) 0 e
I

—
—




( QUESTION D
2 3
The value of (1?l.5)'§ X (625)4is

L}z—.
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( QUESTION D Sy
1 ~
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: ,_‘.:\———\- : (KD (n—) x
E ; (kg
@ > i (%9 n-\
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(Q.ussnou D

a\ a+b p\ b+c c+a
The value of (x_b) X (E—) X (x—c)
X 9.2 v Ay
o (a+p)
e\ [




( QUESTION 1D @
If a3 - b3 = (a b) @ (a? + ab + b?), then the simplified form of
[ 2+Im+m? [ mim*+mn+n? [xn [*+In +n*

N4
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On simplification
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( QUESTION ) = T
If2* =3 =6*Then 2+ +1is|¥? =
X Yo T
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(QUESTION
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( QUESTION D
1

If x = p'/3 — p~3 Then the value of x? + 3x =?
@ | \/} -/

P+; P s P‘S

ik 3

P> BT A YA

p+1 v




(QUESTION

IfaP =b,b9 =c & c" = a,Then the value of pqr =?
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( QUESTION )
Value of log, 16

¥
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( QUESTION )
Value of log{ 5 5.0625

:'.-%)r\
@3 — M




CQUESTION )
Value of log, 0.0625
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( QUESTION )

1

Value of log: (ﬁ)

@ 3y I\ ‘
4\( 65(3115>
®© s x &35 (O'DOMQ
®: / oS
@’5







( QUESTION D
Value of a if log,(V2) = %




( QUESTION D
Find the log of 1728 to base 2+/3
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(QUESTION

Value of 1610

e
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( QUESsTION D

If of logg x + log4 x + log, x = 11
Then the value of x=




( QUESTION )

If log ;| log, (log, x)] = 0, then the value of ‘x’ will be




( QUESTION )

. Iflog 2 =0.3010 and log 3 =0.4771, then the value of log 24 is :




( QUESTION )

1 1 1
+

+
logz 60 logs4 60 logs 60

% % \%eo (315,004 i (5
B) 3 \860(3)\\1 xs)

@: =\ (60)
® s 54

The value of




( QUESTION )

|

The value of

-+
1+log, bc

|
1+logp ac

|
1+log. ab
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)

Value of

525
3 lOglo 2

logg 16 log4 10

log3 8




C(;ussn!m_j

Find the number whose logarithm is -2.4678

%g(m)z — 2 4678 %

(») 0003405 - o
e < o (R RN =52 ML TR
(B) 4.003205 ( c\m/
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_QUESTION " §07 Z?D,/ | 2.0 @

N4

A group of 400 soldiers had a provision for 31 days. After 28 days 280

person were called back . Find the number of days for which the remaining
ration will be sufficient
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( QUESTION )

If log3 = x and log4 = y ,then the value of log120

@) x-y+1 b, (3)= % \ Ay (122)

| %Q’\\ e i %(lz ><\o>
pi_y@ :\B(\n\gr\@
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®2x+y—1 \% o S




(Quesrfou | -_)

If log3 = xand log4 = y ,then the value of log120

@ x-y+1
® x+y+1
@ /-1
®) 2x+y-1
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( QUESTION D

What is Character in log(0.004594) =?

@_ &%(09_0,\1‘5‘{‘1)




( QUESTION D

What is mantissa in log(0.004594) =7

@.6622‘& e TR
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